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1.1 OgOoooo

uboooo ooobooobooooboobOoOoobOObOO0ObOOobOOobOO0O0ObOOO0ObOObOOObOOOOOn
gooooo—-oOooboooooo—-oOooooboobooboobobooooboobOooooboooooboOoooobon
oooboooooboo

int hoge[100], fuga[200] [200];
double foo[300], bar([4][4][4];

goooobopoooobobbboooooooboboboboooobobboobbbogo

e JODODOOOOD hogel0]Ohoge[99] D DD ODODOODOOOOODDOOOOODOOODO 1000
oooo

e 1000000000 fugalol[0]O fugal199]1[199]1000 4000000 000000000

e JOUJODODOOOODODOO fool0l]UOhogel299]0 00 30000000000O00O0OO

e JO00JO0DOOOOOODOO var[o]J[ol[0]0bar[4]1[4]1[4]1000 6400000000000

ubodabod oboboooobobboobobbooboooobooo

int hoge[3]={111,222,333};
int fuga[Q][2]={{111,222},{333,4444}};

gbogoooboooobooooooboobobobobobobooobobobobooobobobo

*000000 MOo0ooooo0o00 mMmoooooo



00000000000 000000000000 (D0000O0)D0DoU0—0000 10310 jl25][49]1—
0000000000000 (Coo0)oooooooo

i[3]=5; /* 00 i[3]1 0 5000 Ox/
c=j[25]1 [49]; /* 00 jl25]1[49] O0ODOO cOODO =/

goooboogbbobbooobbboobobooboobbobobbobbbobobooooobn
obooooood

for(i=0; i<=360; i++){
my_sin[i]=sin(M_PI*i/360.0) ;
}

O000D0Omy-sin[45] OO 0.707107--- 0 0000O0ODO
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000000000000 [1]J0 p2162450000000000000000000OOO0OOOOO
gbooobooo2000000000000O00DOO0O00O0DOO0OOO00O0OOOO0OODOOOOOOOOOO0O0n
goooobooboooooo
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2.1 0O00bbOO0ooooooooon

000o0oobobooooooboboooobooz2030 11000000000 1000000000000 O
gboobooboobobooo nooobobooboooooboobobooobo

00000 10000000000000000000000000 (/tmp/le/temperature.txt)d O
0000000000000 0 (Do)obooUooooooooo

e JO0OODODOOOD1000O0O0DODOODOOOOO2300D00 2400000
e U0ODO 300001101000 1103000000000
e JO000O0OOOODOOOOOODODOOOODOOOOOOOOOODOODO



011110000

gyoo 1o 20 30 40 S50 --- 230

10 84 80 73 65 60 61 --- 10.8
20 114 116 11.3 108 104 95 --- 15.8
30 159 158 152 149 145 143 --- 15.8
300 139 13.7 139 138 136 147 --- 11.2

O0000000Oemacs0 000000000000 O0ODOOOODOODOOOOOOODOO
emacs /tmp/le/temperature.txt

booboooboooooobobobbooboboboooboobobOoboboobooOobobOobo 100
000000 i0 j00000000000 templil[jlO000000OOOOOOCOCOOCOOOOOO
obooooobobooobooooooo

goboooobooobobooboboooooooooboboobooboobobo20b0000b000bDODOOn
0000000000000 000Oo0O0O0O0O000L000OUUDOODUODO0OO()OODODODooooDOoOo
0000000000000 0@) 000000 Uoo0oLoUL0D0—0Oooooooo
gobooooboogoobob 1goboobbooo0ooobooooooboooboobooo

e 400 FILE *fp; UbobobooooooobooodO=fp0 00000000000 DOOFILE
0000fp0000000fp0 fugafuga 0O 0000000000000 O0D0ODOOOODODOO
00 x)0D000000

e 1400 fp=fopen(”/tmp/le/temperature.txt”,”w”); 000002000000000
OO0Otemperature.txt U 00 0000 0OO0O0OO0OOODOODOO0OOOODO0OO0OODOODOO
gooooooooooobooobobobbiddwb oo obooboooooo
O0OfopenO ODO0DOO0OO0OOOODOOOOOOFILENOOOOODOOOO

e 1800 fscanf(fp, "%l ,&temp(i]j]); O00D000000000000000000000O
00 fscanf() 000000000000 000000000 scanf() 0000000000000
000000000000000000000000—0000000

e 2200 fclose(fp); obbooooooooooooooooooooboooboboooboooo

0000000000 0000000000000 80
200000000000000000000
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#include <stdio.h>

int main(void){
FILE xfp;
double temp [31][24];
double max_day[31];
double max_nov;
int dates, hours;

int i, j;

dates = 30; // 00000000

hours = 24;

fp=fopen (” /tmp/le/temperature.txt” ,”r”); // 0000000000

for (i=1; i<=dates; i++){ // 000000000000

for (j=0; j<=hours—1; j++){
fscanf (fp, "%lf”, &temp[i][]j]);

}
}
fclose (fp); // 000000000
Y 00000000000 ----mmmmmmmmmmmemmme */
max_nov = temp [1][0]; // 1100000000 10000
Y 100000 =-m-mmmmmmmmmmmmmmmmmemomo
for (i=1; i<=dates; i++){ // i0 0000000
max_day[i] = temp[i][0]; // i00000000 i0000
Yy I
for (j=0; j<=hours—1; j++){ // i0 00000
if(temp[i][j] > maxday[i]){ // i0O0O0O0OOODOO
max.day[i] = temp[i][}];
}
| Sy jO0D0000000 ----m-mmmmmmu-
if (max_day[i] > max.nov){ // 11000000000
max_nov = max_day[1i];
}
| S A i000000000 ----mmmmmmmmem

printf(”\n\nTemperature November/2003 at Akita\n”);

printf (” \n” );
printf(” day\tmax\n”);
printf (” n”);

for (i=1; i<=dates; i++){
printf (?%3d\t%5.11f\n” ,i, max_.day[i]);
}

printf(” \n\n” );

printf (”max(Nov.) = %5.11f\n” , max_nov);




61
62
63
64

return 0;

Temperature November/2003 at Akita

day max
1 20.3
2 20.4
3 22.8
4 14.9
5 18.4
29 15.7
30 15.1
max (Nov.) = 22.8

22 00000000

o00o0ooooooobooobooooooooooooooboooboboooboooooDbOonn
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e 00000OU0DODOODOOOOCODOODODODOOUODDODOODOON seisekil[0]0 seiseki[9]
gooogo

e J00D0DOOOOODODOOODODOODOODOODOOOOOOOOODOOOOODODOO seiseki[0]10
seiseki[9] 0 O DO0O0OOOODOOOO00OOdiffaved000D0O0OOOODOODOODDDODOOO

e JOODODDDODODDOOOOODOO

00000000000 00000000000000 diffaveQO00000COODOCOODOOOODDO
OO0 seiseki[]000000DO0O0DOOODODOODOOODDODOOOOODOOOOOOODODODODOO
oooboooboobooogoooboobobooboooooboooboobooog

e JOOODOOODOOODODODOOODODOODOOOOODDOOOOODODODOOOOODODOOOOO
goooooobooooboobobooobooooboooobooboboooooboboooboon
oood

e JOOODODOODODDODOOOOOLOOOOODOOODLDOOOOOOUOOOOODOODOOODOnO
gboooooobooooobOOooooboooooobboooboooooooooooboooooon
oooooooooboboooooooboooooobooooooooboono
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gbobobobooooobooboooooooobooboooooobooooooobooboooboboooooooboo—o
ggbodboooobbooobdoooouobooobooobobobooboooooboboboonoo
gbogodobooogoooooboobooooooooooooon

O00000000DODO0O0O0000000b0000D qatal1000O0O0DOOOOOOOOODODO
Oo00O00000000000000Ofugalll100] 0 hogell[200][300]000000000000C0CO
oOoo0oooooOoo0obOooooooooooxoobDo0oooooooobooo00ooooooog
uboooobooboooboooo

obd 2z2000000000000000000

#include <stdio.h>

int diff_ave(int n, int data|[]);

int main(void)

{

int seiseki[10], average, i, n;
n=10; // 000

for (i=0; i<n; i++){
printf (?%d00 00O \t”, i);
scanf ("%d” & seiseki[i]);

}

average=diff_ave (n, seiseki); // 000000

printf (000 = %d\n”, average);
printf (000000 \n”);

for (i=0; 1<10; i++){
printf (?%d0 \t%d0O \n”, i, seiseki[i]);
}

return 0;

int diff_ave (int n, int data[])

{

int i, sum=0, ave;

for (i=0; i<n; i++){ // 00000000
sum += data[i];

}

ave = sum/n; // 000000

for (i=0; i<n; i++){ // 000000000

data[i] = data[i] — ave;

return ave;
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(001 000 10000000000000000O00O0000O00O00D0DUOOOoOOOOon
gbooboooooooboboboobon

Temperature November/2003 at Akita

day max min average
1 20.3 6.0 12.1
2 20.4 9.5 15.2
3 22.8 13.9 17.8
4 14.9 6.4 11.5
5 18.4 4.3 10.6
6 17.9 10.5 13.3
25 10.6 7.6 9.2
26 7.0 0.6 4.3
27 7.3 -0.3 2.8
28 12.2 0.1 6.0
29 15.7 7.9 12.2
30 15.1 11.2 13.4

22.
-0.

)]

max (Nov.)
min(Nov.)
average (Nov.)

[%4]

gobooooboOoDbOO00O00 1o000o0obobooooa
1. 000000bood
2.0000000000
(00 2] ODOO0O0O (/tmp/le/int data.txt)00 01000000 000000000000000O0

gobobbooooooooobbobbooooooobooobooooooobooooo
oobooboooobogooo
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000000O0O0O00oOoO0OO (10 120)0 AMS45000000000000O00OUOUOOOOOO
goooooobOobOooboooboboobooobboooooooobooono

(01 (00)000 p.2042680 300000000000 UUO0ODOODUOOODUOOOOOUOO
0000000000000 o0UO00oo0o0oUoooO0oUUoooOO (hHoooooo
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